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R�$�UHTXLUHG�FKDQJH�LQ�WKH�%DFN�3ODQH
FRQQHFWRUV�XVLQJ��[���SLQV�LQVWHDG�RI��[���SLQV
DOORZV�WR�UHRUJDQL]H�WKH�ZD\�LQIRUPDWLRQ�DUULYHV
WR�WKH�&DVVHWWHV�

R 7DNLQJ�LQWR�DFFRXQW�WKH�IDFW�WKDW�WKHUH�DUH�WZR
IODYRUV�RI�WKH�)(�7ULJJHU�%RDUG��/HIW�DQG�5LJKW

DQG

R WKDW�WKHVH�WZR�IODYRUV�FRH[LVW�LQ�WKH�VDPH
FDVVHWWH�

R 6KLIWLQJ�LQIRUPDWLRQ�IURP�RQH�)(�%RDUG�WR�WKH
RWKHU�LW�LV�SRVVLEOH�WR�IRUP�D�SDWWHUQ�RI�GDWD
DUULYLQJ�WR�WKH�FDVVHWWHV�E\�ZKLFK�WKH�PLQLPXP
VL]H�RSWLFDO�FRQQHFWRU�UHTXLUHG�KDV����ILEHUV�

R )XUWKHUPRUH��E\�LQFUHDVLQJ�WKH�QXPEHU�RI
WUDFHV�LQ�WKH�%DFN�3ODQH��WKH�RUGHU�LQ�ZKLFK�WKH
GDWD�LV�SUHVHQWHG�WR�WKH�)(�%RDUG�LV�IDU�PRUH
OHVV�UHVWULFWLYH�WKDQ�EHIRUH�

7KH�QH[W�VOLGH�SUHVHQWV�WKH�VXJJHVWHG
SDWWHUQ�RI�GDWD�DUULYLQJ�WR�WKH�FDVVHWWHV
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? $OO�FDVVHWWHV�PXVW�KDYH�WKH�VDPH
RUJDQL]DWLRQ�

? 3UH6KRZHU�GDWD�PXVW�EH�LQ�VDPH
FDVVHWWH�DV�&)7�GDWD�

? $OO�FRQQHFWRUV�PXVW�KDYH�WKH�VDPH
RUJDQL]DWLRQ�

? 7KH����VXEVHFWRUV�VKRXOG��EH
RUJDQL]HG�LQWR���LGHQWLFDO�VHFWRUV�

? :LWKLQ�D�VHFWRU�WKH�OHQJWK�RI�WKH�FOHDU
ILEHUV�FRQQHFWLQJ�WKH�6)�DQG�WKH
FDVVHWWHV�VKRXOG�EH�VXFK�WKDW�DOO
VLJQDOV�JHQHUDWHG�LQ�WKH�PLGGOH�RI�D
6)�ZLOO�DUULYH�DW�WKH�VDPH�WLPH�WR�WKH
FDVVHWWHV�
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